
RED 

1.  9 shared between 3 

2.  8 shared between 2 

3.  12 shared between 4 

4.  15 shared between 3 

5.  12 shared between 3 

6.  6 shared between 2 

7.  4 shared between 2 

8.  8 shared between 4 
 

ORANGE 

1. 10 shared between 2 = ___ 

2. 8 shared between 4 = ___ 

3. 6 shared between 2 = ___ 

4. 4 shared between 2 = ___ 

5. 6 shared between 3 = ___ 

6. 8 shared between 4 = ___ 

7. 9 shared between 3 = ___ 

8. 10 shared between 5 = ___ 
 

GREEN 

We have learnt that the ÷ symbol to mean ‘shared between’ 

1. 24 ÷ 2 =  

2. 12 ÷ 3 = 

3. 18 ÷ 6 =  

4. 21 ÷ 3 = 

5. 20 ÷ 10 =  

6. 14 ÷ 2 = 

7. 16 ÷ 8 =   

8. 20 ÷ 4 = 


